Questi (25 marky)
Scientists can estimate the age of certain ancient items by measuring the proportion of carbon-14,
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relative o the total carbon content in the item. The formula used is O = ¢ » where Qs the

proportion of carbon—14 remaining and 7 is the age, in years, of the item.

() Anitem is 2000 years old. Use the formula to find the proportion of carbon—14 in the item,
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(b)  The proportion of carbon—14 in an item found B
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Estimate, correct to two significant fisures the ageocl:fg 31 o SRR DS
— =15 ¢ item.
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